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1. CO1 PO1,2,3 | Q.1 Determine the transfer function.
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2. Co1 PO1,2 Q2.Consider the block diagram shown in the following figure. Let us simplify
(reduce)this block diagram using the block diagram reduction rules.
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3. COo1 PO1,2 Q 3.Determine the transfer function Y2(s)/R1(s).
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4. Co1 PO1,2 Q4.Convert block diagram to signal flow graph
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Step 1 — Use Rule 1 for blacks Gy and Gy Use Pule 2 for blocks Gy and Gy
The modified block diagram 1s shown in the following figure

Step 2 — Use Rule 3 for blocks GGy and Hy . Use Rule 4 for shifting take-off
point after the block Gg. The modified block diagram is shown in the following
figure
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Step 3 ~ Use Rule 1 for blocks (Gy + G4) and G'g. The modified block diagram

15 shown in the following figure
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Step 4 — Use Rule 3 for blocks (Gy + G4)Gg and Hy. The maodified block
diagram s shown in the following figure
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Step S — Use Rule 1 for blodks connected in series. The modified blod< diagram

is shown in the following figure,
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